2(20)-1 =4 =

Fill in the blanks:
o oekdcx

6 4
+ 9 4
+ 6 6
15 13
7 4
7 (a)
2 (b)
— 0

12 _—

LR A

) (c) -

) (d) —
-1 + 2



Huang2014
线条

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Typewriter
Fill in the blanks:
填入正确数字：

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014
打字机
2(20)-1 英文姓名:_______________ 中文姓名:_________________ 

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Stamp

WHuang
Stamp




